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Cluster: 0118 ptr; resid: 0.28; r/c: 24/69

x.range

upstream meme PSSM #1; e=140

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=210

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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13309

50848

5424

13534

19438

3334

9893

10768

31617
31981

32646

37253

42452

43377

43446

43504

44011

44592

44687

44807

45001

46145

47549

7426

string −500 −400 −300 −200 −100 −1
47549NA

9893−0.05
43504−0.06
44592−0.13
31981−0.13
43377−0.14
44011−0.20
10768−0.22
44807−0.33
42452−0.34
43446−0.50
45001−0.53
13534−0.58
31617−0.59
50848−0.66
37253−0.81
44687−0.90
32646−1.50

5424−3.97
3334−4.05
7426−4.66

13309−4.75
46145−5.10
19438−5.60

log10(P) upstream meme1 2 log10(P.clust)=−1.56; 24 seqs; 24 uniq
c(0.5, 2.5)
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